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1. Explain National Income Accounting System. Explain four sectoral circular flow of

National Income. 14
OR

(@) Explain the different concepts of National Income. 7

(b) State the difficulties in measurement of National Income. 7

2.  Explain the relationship between money supply, high power money and money

multiplier with the help of equation and figure. 14
OR

(@) Explain four measurements about Money supply of RBI. 7

(b) State the determinant factors of Money supply. 7

3.  Explain the Friedman’s Theory of Demand for Money. Explain the analysis of Boumal

and Tobin for Demand for Money. 14
OR

(@) Discuss Fisher’s Quantity Theory of Money. 7

(b) Explain liquidity preference approach of Keynes. 7
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4. Discuss Keynesian approach to inflation and explain short run and long run Philips

Curve. 14
OR

(a) State the theory of Samuelson’s business cycle. 7

(b) State the policies to control inflation. 7

5. Choose the correct answer of the following and write : (Multiple choice question — each
of 1 marks) : 14

(1) Which of the following is not the method of measurement of National Income ?
(@ The Product Method (b) The Income method
(c) Derivative method (d) The Expenditure Method

(2) How many sectors of National Income are connecting in equationY =C + 1 ?
@ Two (b) Three
(c) Four (d) One

(3) The main difference between Gross National Product and Gross Domestic Product

is
(@) Depreciation Cost (b) Production Cost
(c) Foreign Trade (d) Selling Cost

(4) RBI approach to narrow money supply means
(@ M (b) M,
(© M, (d M,

(5) If the Cash Reserve Ratio (CRR) of Commercial Banks is increase then the money

supply
(@) increase (b) decrease
(c) constant (d) (a)and (b) both
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(6) RBI approach to broad money supply means
(@ M (b) M,
€ M, d M,

(7) Cambridge equation is superior then Fisher’s equation because
(@) it considers the function of money as a medium of exchange.
(b) it considers the function of money as a measurement of the value.
(c) it considers the function of money as a stock of the value.
(d) (a) and (b) both

(8) Which income considers by Friedman about demand for money ?
(@ Relative income (b) Absolute income
(c) Permanent income (d) Currentincome

(9) Who was the first Economist who shows that demand for money is for ‘speculative
purpose’ also ?

(@) Friedman (b) Marshall

(c) Keynes (d) Boumal
(10) “Inflationary Gap’ means

(@) Planned Savings (S) > Planned Investment Cost (I)

(b) Planned Savings (S) < Planned Investment Cost (1)

(c) Planned Savings (S) = Planned Investment Cost (I)

(d) (a)and (c) both
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(11) Which among the following two variables shows the relationship between by
Philips Curve ?

(@) Unemployment and Price level
(b) Unemployment and output
(c) Price level and output
(d) Employment and National Income
(12) Inflation means
(@) increase in prices (b) decrease in prices
(c) steady prices (d) increase in production
(13) The slope of Philips Curveis
(@) Negative (b) Positive
(c) Zero (d) Infinite
(14) Cash (C) + Demand Deposits (DD) + Time Deposits (TD) =
(@ M, (b) M,

© M, d M,

XY-107 8



	XY-107 
	M.A. Sem. II 
	April-2013 
	XY-107 
	M.A. Sem. II 
	April-2013 


